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LE

 JE
U D

E L
’AN

NÉ
E

On
 pa

rt d
e l
a s

itu
ati
on
 ill

ust
rée

 pa
r la

 fig
ure

 : 
la 

pre
mi

ère
 ca

se,
 à 

ga
uc

he
, c

on
tie

nt 
2 p

ion
s, 

et 
la 

qu
atr

ièm
e

10
pio

ns.
 E
nsu

ite
, c

ha
qu
e c

ou
p c

on
sis

te 
à d

ép
lac

er 
un
 pi

on
, e

t u
n

seu
l, d

’un
e c

ase
 à u

ne 
cas

e s
itu

ée 
im

mé
dia

tem
ent

 à c
ôté

.
On

 ve
ut 
ob
ten

ir u
ne 

situ
ati
on
 te
lle
 qu

’au
cun

e c
ase

 ne
 so

it v
ide

 et
 qu

e
les

 qu
atr

e c
ase

s c
on
tie
nn
ent

 de
s n

om
bre

s d
e p

ion
s to

us 
dif

fér
ent

s le
s

un
s d

es 
aut

res
. C

om
bie

n fa
udr

a-t-
il d

e co
ups

, au
 mi

nim
um

 ?
2 - 

LA
 BO

UM
Qu

atr
e f
ille

s e
t q
uat

re 
gar

çon
s p

art
ici
pen

t à
 un

e b
ou
m.
 Ch

aqu
e d

ans
e

se 
fai

t à
 de

ux
, e

ntr
e u

ne
 fi
lle

 et
 ga

rço
n. 

A 
un

 m
om

en
t, 
on

 le
ur

dem
and

e c
om

bie
n d

e d
ans

es 
ils 

on
t d
ans

é d
epu

is l
e d

ébu
t. L

es 
qu
atr

e
gar

çon
s r
épo

nd
ent

 : 2
, 0
, 0
 et
 10

. T
roi

s d
es 

fill
es 

rép
on
den

t : 
1, 
2, 
3.

Qu
elle

 ser
a la

 rép
ons

e d
e la

 qu
atr

ièm
e fi

lle 
?.

3 - 
 AD

DIT
ION

 LI
TT

ÉR
AL

E
Co

mp
léte

z la
 tro

isiè
me

 ph
ras

e
ave

c d
es n

om
bre

s éc
rits

 en
lett

res
 de

 faç
on 

que
 cet

te p
hra

se s
oit 

vra
ie e

t qu
e :

• le
s n

om
bre

s é
cri

ts d
ans

 ce
s tr

ois
 ph

ras
es 

soi
ent

 to
us 

dif
fér

ent
s ;

• le
s tr

ois
 ph

ras
es 

com
po
rte

nt 
le 
mê

me
 no

mb
re 
de 

let
tre

s ;
• d

ans
 ch

aqu
e p

hra
se,

 le
s n

om
bre

s s
oie

nt 
ran

gés
  d
u p

lus
 pe

tit 
au 

plu
s

gra
nd
.

4 - 
LE

S B
US

A 
Ma

thv
ille

, il
 ex

iste
 un

e l
ign

e d
e b

us 
cir

cul
air

e. 
A 
par

tir 
de 

7 h
eur

es,
 de

s b
us 

par
ten

t d
e l
a g

are
 to

ute
s

les
 20

 m
inu

tes
 et

 pa
rco

ure
nt 

la 
lig

ne 
dan

s l
e s

ens
 de

s
aig

uil
les

 d'
un
e m

on
tre

. A
 pa

rtir
 de

 7 
h 1

0 d
es 

bu
s p

ar-
ten

t d
e l

a g
are

 to
ute

s l
es 

20
 m

inu
tes

 et
 pa

rco
ure

nt 
la 

lig
ne 

dan
s l
e

sen
s i

nv
ers

e d
e c

elu
i d

es 
aig

uil
les

 d'
un
e m

on
tre

. C
ha
qu
e b

us 
me

t
exa

cte
me

nt 
40
 m

inu
tes

 po
ur 

par
cou

rir 
la 

lig
ne 

et 
rev

eni
r à

 la
 ga

re.
Ai
nsi

, le
 bu

s q
ui 

par
t d

e l
a g

are
 à 

8 h
eur

es 
arr

ive
ra 

à n
ou
vea

u à
 la

gar
e à

 8 
h 4

0. 
Co

mb
ien

 de
 bu

s au
ra-

t-il 
alo

rs c
roi

sé ?
5 - 

LA
 DI

FF
ÉR

EN
CE

 DE
 L’

AN
NÉ

E
Ma

thi
lde

 éc
rit 

tou
s l

es 
no
mb

res
 à 

qu
atr

e c
hif

fre
s q

ui 
uti

lis
en
t a

u
mo

ins
 un

e f
ois

 ch
acu

n d
es 

ch
iffr

es 
2, 

1 e
t 0

 et
 se

ule
me

nt 
ceu

x-l
à,

com
me

 pa
r e

xem
ple

 12
00
 ou

 20
10
. E

lle
 ca

lcu
le 
ens

uit
e l
a d

iffé
ren

ce
en
tre

 le
 pl

us 
gra

nd
 et

 le
 pl

us 
pe
tit 

de
s n

om
bre

s q
u'e

lle
 a 

écr
its
.

Qu
elle

 est
 cet

te d
iffé

ren
ce ?

 No
te 
: L

e p
rem

ier
 ch

iffr
e d

'un
 no

mb
re

à q
uat

re 
chi

ffr
es 

n'e
st j

am
ais

 un
 0.

6 - 
PY

RA
MI

DE
 LO

GIQ
UE

 
Pla

cez
 tou

s le
s ch

iffr
es d

e 1
 à 

6 d
ans

 les
pet

its 
tria

ngl
es b

lan
cs (

un 
chi

ffre
 pa

r tr
i-

ang
le).

Le
 no

mb
re 

ins
cri

t d
ans

 ch
aqu

e p
eti
t tr

ian
gle

no
ir 

do
it 
êtr

e é
ga

l à
 la

 so
mm

e d
es 

tro
is

chi
ffr
es 

qu
i l'
ent

ou
ren

t.

7 - 
LE

 CO
DE

  
Ch

acu
n d

es 
ch
iff
res

 de
 1 
à 6

 es
t u

tili
sé 

un
e f

ois
 po

ur 
for

me
r le

 co
de

du
 co

ffr
e-f

ort
 de

 P
ics

ou
. C

e n
om

bre
 à 

6 c
hif

fre
s e

st 
pa
ir. 

Po
ur

ch
aq
ue
 pa

ire
 de

 ch
iff
res

 vo
isi
ns,

 l'u
n e

st m
ult

ipl
e d

e l
'au

tre
.

Qu
el e

st l
e co

de 
du 

cof
fre

-for
t ? 

8 - 
TR

OIS
 SY

MB
OL

ES
 À 

BA
RR

ER
 

Ba
rre

z tr
ois

 sy
mb

ole
s d

ans
 l’e

xpr
ess

ion
 su

iva
nte

 po
ur 

que
 le

rés
ulta

t do
nne

 20
10 

:
No

te 
: U

n s
ym

bo
le 
peu

t ê
tre

 un
 ch

iffr
e o

u u
n s

ign
e¥

. S
i l’

on
 ba

rra
it

le 
sig

ne 
¥
ent

re 
2 e

t 3
, p
ar 
exe

mp
le,
 on

 lir
ait
 al
ors

 le
 no

mb
re 
23
.

9 - 
L’E

NC
YC

LO
PÉ

DIE
 UN

IVE
RS

AL
IS 

Le
s 2

8 t
om

es 
d’u

ne
 en

cy
clo

pé
die

 U
niv

ers
ali
s s

on
t r
an
gé
s d

an
s l

e
dé
sor

dre
 su

r u
ne
 ét
ag
ère

. U
n m

ou
ve
me

nt 
co
nsi

ste
 : 

• a
ve
c u

ne
 m

ain
, à
 so

rtir
 un

 to
me

• a
ve
c l

’au
tre

 m
ain

, à
 fa

ire
 gl

iss
er 

lat
éra

lem
en
t, 
san

s l
es 

sor
tir
,

d’a
utr

es 
tom

es 
sur

 l’é
tag

ère
• à

 re
ntr

er 
le 
tom

e s
ort

i.
Da

ns 
la 
sit
ua
tio

n l
a p

lus
 dé

fav
ora

ble
, en

 co
mb

ien
 de

 mo
uve

me
nts

,
au 

min
imu

m, 
l’en

cyc
lop

édi
e p

eut
-ell

e ê
tre

 ra
ngé

e d
ans

 l’o
rdr

e,
de 

gau
che

 à d
roi

te, 
sur

 l’é
tag

ère
 ?
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- M

AS
TE

RM
IND

 GL
ISS

AN
T

Da
ns
 ce

tte
 v
ari

an
te 

du
 M

as
ter

-
mi

nd
, o
n c

he
rch

e à
 de

vin
er 

la 
po
si-

tio
n d

e 6
 ch

iff
res

 de
 1 

à 6
, p

rés
en
ts

ch
acu

n u
ne
 fo

is. 
A 
ch
aq
ue
 co

up
, le

jou
eu
r p

ose
 4
pio

ns 
nu
mé

rot
és 

et 
le

me
ne
ur 

de
 je

u i
nd
iqu

e :
 • 
un
 ro

nd
 no

ir p
ou
r c

ha
qu
e c

hif
fre

 pr
ése

nt
da
ns 

les
 co

lon
ne
s o

ù u
n p

ion
 a 
été

 po
sé,

 et
 bi

en
 pl

acé
• u

n r
on
d b

lan
c p

ou
r c

ha
qu
e c

hif
fre

 pr
ése

nt 
da
ns 

les
 co

lon
ne
s o

ù u
n

pio
n a

 ét
é p

osé
, et

 m
al 
pla

cé.
 

Ret
rou

vez
 la 

pos
itio

n d
e ch

aqu
e ch

iffr
e. 
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- M

OIT
IÉS

 DE
 SO

MM
E 

Ar
thu

r a
 ch

ois
i p

ou
r s
on
 or

din
ate

ur 
un
 co

de
 à 
6 c

hif
fre

s t
ou
s d

iff
é-

ren
ts 

AB
CD

EF
. A

 es
t l
a m

oy
en

ne
 de

 B
 et

 de
 C

D 
(co

ns
idé

ré
co
mm

e u
n n

om
bre

 de
 de

ux
 ch

iff
res

). A
C 
est

 la
 m

oy
en
ne
 de

 B
E e

t
de
 FE

 (c
on
sid

éré
s c

om
me

 de
s n

om
bre

s d
e d

eu
x c

hif
fre

s).
Dev

ine
z la

 va
leu

r d
e ch

aqu
e le

ttre
.

Re
ma

rqu
e :
 A
uc
un
 de

s n
om

bre
s c

ité
s n

e c
om

me
nc
e p

ar 
un
 0.
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E Q
UA

DR
ILA

TÈ
RE

 
On

 tr
ace

 un
 qu

ad
rila

tèr
e c

on
ve
xe
, p

uis
 on

 co
nsi

dè
re 

les
 qu

atr
e t

ri-
an
gle

s f
orm

és 
pa
r tr

ois
 de

 se
s s

om
me

ts.
L'a

ire
 du

 pl
us 

gra
nd
 de

 ce
s t
ria

ng
les

 es
t é

ga
le 

à 2
01
0c

m2
et 

cel
le

du
 pl

us 
pe
tit 

à 2
01

cm
2 . 

Qu
elle

 es
t, a

u m
axi

mu
m, 

l'ai
re 

du
 qu

adr
ilat

ère
, ex

pri
mé

e
en

cm
2 ?
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N S
EP

T C
OU

PS 
DE

 SC
IE

En
 se

pt 
cou

ps 
de 

sci
e, 
san

s d
épl

ace
r le

s m
orc

eau
x e

ntr
e d

eux
 co

up
s

de 
sci

e, o
n a

 dé
cou

pé 
un
 cu

be 
en 

par
all
élé

pip
ède

s r
ect

ang
les

 do
nt 
l'ai

-
re 
tot

ale
 va

ut 
50
0 c

m2
.

Qu
elle

 est
 la 

lon
gue

ur 
en 

cm
 d'u

ne 
arê

te d
u c

ube
 ?
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’AN
AG

RA
MM

E S
EX

TU
PL

E  
Ma

thi
as 

a t
rou

vé
 un

 no
mb

re 
de
 qu

atr
e c

hif
fre

s é
ton

na
nt.

 Lo
rsq

u’o
n

le 
mu

ltip
lie

 pa
r 6

, o
n o

bti
en
t u

n n
om

bre
 de

 qu
atr

e c
hif

fre
s q

ui
s’é

cri
t a
ve
c l
es 

mê
me

s c
hif

fre
s r
an
gé
s d

an
s u

n o
rdr

e d
iff
ére

nt.
Qu

el e
st l

e n
om

bre
 de

 M
ath

ias 
?
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E G
RA

ND
 NO

MB
RE

  
Ma

thi
as 

a é
cri

t u
n t

rès
 gr

an
d n

om
bre

 et
 l'a

 m
ult

ipl
ié 
pa
r 5

.
Le

 ré
sul

tat
 es

t u
n n

om
bre

 à 
40
 ch

iff
res

 qu
i s
'éc

rit 
av
ec 

30
ch
iff
res

"5"
 et
 10

 ch
iff
res

 "7
".

Qu
elle

 est
 la 

som
me

 de
s ch

iffr
es d

u n
om

bre
 de

 dé
par

t ?
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- L
ES

 TR
OIS

 CA
RR

ÉS
 

Ma
thi

lde
 di

spo
se 

de
 tro

is 
car

rés
 en

 ca
rto

ns 
do
nt 

les
 cô

tés
 m

esu
ren

t
res

pe
cti
ve
me

nt 
6 c

m,
 8 
cm

 et
 10

 cm
.

Ell
e l
es 

po
se 

sur
 un

e t
ab
le 
san

s c
he
va
uc
he
me

nt 
de
 te
lle
 fa

ço
n q

u'i
ls

se 
tou

ch
en
t d

eu
x à

 de
ux
.

Qu
elle

 est
 l'a

ire 
min

ima
le d

u tr
ian

gle
 for

mé
 pa

r le
s ce

ntr
es d

es
tro

is c
arr

és ?
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- L
ES 

NO
MB

RE
S D

E M
ICH

EL
  

Le
 pr

em
ier

 ch
iff
re 

à g
au
ch
e d

’un
 no

mb
re 

de
 M

ich
el 

est
 di

ffé
ren

t
de

0 e
t d

u d
ern

ier
 ch

iff
re 

à d
roi

te.
Lo

rsq
u’o

n f
ait

 pa
sse

r l
e c

hif
fre

 de
s u

nit
és 

à l
a p

rem
ièr

e p
lac

e à
ga
uc
he
, sa

ns 
ch
an
ge
r l’

ord
re 

de
s a

utr
es 

ch
iff
res

, o
n o

bti
en
t u

n
mu

ltip
le 
du
 no

mb
re.

 Qu
el e

st l
e p

lus
 pe

tit 
nom

bre
 de

 M
ich

el ?
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- L
A F

AR
CE

 DU
 CO

NC
IER

GE
  

Pie
rre

 et
 Se

rge
 so

nt 
de
ux
 m

ath
ém

ati
cie

ns 
qu
e l

eu
r c

on
cie

rge
 te

nte
co
nst

am
me

nt 
de
 co

lle
r. 
Un

 1e
r a

vri
l, e

nse
mb

le,
 ils

 to
mb

en
t n

ez 
à

ne
z a

ve
c l
ui.

J’a
i c

ho
isi

 de
ux

 no
mb

res
 en

tie
rs 

en
tre

 1 
et 

10
0 i

nc
lus

, d
it 
le

co
nc
ier

ge
. V

oic
i l
eu
r p

rod
uit

, d
it-
il 
à P

ier
re 

en
 lu

i d
on

na
nt 

le
pa
pie

r. 
Et 

vo
ici
 le

ur 
som

me
, d

it-i
l à

 S
erg

e e
n l

ui 
do
nn
an
t l
’au

tre
pa
pie

r. «
 Le

qu
el 
de
 vo

us 
de
vin

era
-t-
il c

es 
no
mb

res
 ? 
»

« C
e p

rod
uit

 ne
 m

e s
uff

it p
as 

», 
dit

 Pi
err

e.
« J

e l
e s

av
ais

 »,
 di

t S
erg

e.
Le

 le
nd
em

ain
, le

 co
nc
ier

ge
 av

ou
e q

u’i
l a

 in
ve
rsé

 le
s p

ap
ier

s :
 en

vé
rité

, c
elu

i d
on
né
 à 

Pie
rre

 m
en
tio

nn
e l

a s
om

me
 de

s n
om

bre
s, 
et

cel
ui 

do
nn
é à

 Se
rge

 le
ur 

pro
du
it.

« H
éla

s, 
ce 

pro
du

it 
ne
 m

e s
uff

it 
pa
s, 

ma
is 

je 
sai

s q
ue
 P
ier

re 
le

sai
t»

, d
it S

erg
e.

« A
lor

s, j
’ai

 de
vin

é l
es 

no
mb

res
 »,
 di

t P
ier

re.
« M

oi 
au
ssi

 »,
 di

t S
erg

e.
Qu

els 
son

t, r
ang

és d
ans

 l’o
rdr

e cr
oiss

ant
, le

s de
ux 

nom
bre

s ?
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